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VCE Further Maths Mr Mark Judd 

Unit 3, Core: Data Analysis       Yr 12 Further Maths 

Finance Solver 
  

 
  

 
 
 
 
  

N: is the number of interest bearing periods 

 
I (%): is the interest rate per annum (p.a.) 

PpY: is the payments per year 

FV: is the future value ($) 

Pmt: is the payment ($) 

PV: is the present value ($) 

CpY: is the compounds per year 

NB: PpY and CpY are always the same: 
 
1 for annual 
4 for quarterly 
12 for monthly 
26 for fortnightly 
52 for weekly 
356 for daily 
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Comparing compounding periods 
 
Calculate the amount of money I will have in my account if I invest $10,000.00 at 
12% p.a. for a period of 2 years compounded: 
  
i. Annually (yearly) 

ii. Quarterly 
iii. Monthly 
iv. Fortnightly 
v. Weekly 

vi. Daily 
 
Annually 
(r and n must be in terms of years!) 
  

V2 = ? 
V0 =  $10,000 
r = 12% pa (yearly) 

R = growth rate = 1 +  
12

100
  

    = 1.12 

n = 2 years 

𝑉2 = 𝑉0(1 +  
𝑟

100
)𝑛 

𝑉2 = 10000(𝟏. 𝟏𝟐)𝟐 
     = $12544.00 

 
Quarterly 
(r and n must be in terms of quarters!) 
  

V8 = ? 
V0 =  $10,000 
r = 12% pa (yearly) 

   = 
12

4
 

    = 3% pq (per quarter) 

R = growth rate = 1 +  
3

100
  

    = 1.03 

n = 2 years 
   = 2 x 4 
   = 8 quarters 

𝑉8 = 𝑉0(1 +  
𝑟

100
)𝑛 

𝑉8 = 10000(𝟏. 𝟎𝟐)𝟖 
     = $12667.70 
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Monthly 
(r and n must be in terms of months!) 
  

V24= ? 
V0=  $10,000 
r = 12% pa (yearly) 

   = 
12

12
 

    = 1% pm (per month) 

R = growth rate = 1 +  
1

100
  

    = 1.01 

n = 2 years 
   = 2 x 12 
   = 24 months 
    

𝑉24 = 𝑉0(1 +  
𝑟

100
)𝑛 

𝑉24 = 10000(𝟏. 𝟎𝟏)𝟐𝟒 
     = $12697.35 

 
 
Fortnightly 
(r and n must be in terms of fortnights!) 
  

V52 = ? 
V0 =  $10,000 
r = 12% pa (yearly) 

   = 
12

26
 =

6

13
 

    = 𝟔
𝟏𝟑

 % pf (per fortnight) 

R = growth rate = 1 +  
(6/13)

100
  

    = 1 + 𝟔

𝟏𝟑𝟎𝟎
 

n = 2 years 
   = 2 x 26 
   = 52 fortnights 
    

𝑉52 = 𝑉0(1 +  
𝑟

100
)𝑛 

𝑉52 = 10000(𝟏 +
𝟔

𝟏𝟑𝟎𝟎
)𝟓𝟐 

     = $12705.47 
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Weekly 
(r and n must be in terms of weeks!) 
  

V104 = ? 
V0 =  $10,000 
r = 12% pa (yearly) 

   = 
12

52
 =

3

13
 

    = 𝟑
𝟏𝟑

 % pw (per week) 

R = growth rate = 1 +  
(3/13)

100
  

    = 1 + 𝟑

𝟏𝟑𝟎𝟎
 

n = 2 years 
   = 2 x 52 
   = 104 weeks 
    

𝑉104 = 𝑉0(1 +  
𝑟

100
)𝑛 

𝑉104 = 10000(𝟏 +
𝟑

𝟏𝟑𝟎𝟎
)𝟏𝟎𝟒 

     = $12708.98 
 
 
Daily 
(r and n must be in terms of days!) 
  

V730 = ? 
V0 =  $10,000 
r = 12% pa (yearly) 

   = 
12

365
 = 

    = 𝟏𝟐
𝟑𝟔𝟓

 % pd (per day) 

R = growth rate = 1 +  
(12/365)

100
  

    = 1 + 𝟏𝟐

𝟑𝟔𝟓𝟎𝟎
 

n = 2 years 
   = 2 x 365 
   = 730 days 
    

𝑉730 = 𝑉0(1 +  
𝑟

100
)𝑛 

𝑉730 = 10000(𝟏 +
𝟏𝟐

𝟑𝟔𝟓𝟎𝟎
)𝟕𝟑𝟎 

     = $12711.99 

 

NB: The shorter the period duration the higher the interest return.  

 

 


